
BARBARA	SHREVE:		So	you're	going	to	look	at	a	whole	bunch	of	first	steps.		And	on	this	handout	I've	
given	you	quite	a	few	problems	and	even	more	first	steps.		And	you	don't	have	to	do	the	whole	
problem,	but	you	do	need	to	match	each	one	with	its	first	step.		It's	possible	that	there's	more	than	one	
right	choice	for	each	problem	but	you're	only	going	to	use	each	one	of	these	once.		Okay?		And	you	need	
to	be	ready	to	justify	it.		When	you	tell	me	you've	done	all	your	matching,	I	come	over	and	I	ask	you	to	
explain	why	on	one	of	them.		Does	that	make	sense?		So	when	you	get	this	take	a	look	at	each	first	step	
problem	and	talk	together.		You	might	want	to	make	some	notes	for	yourself	on	there	to	show	why	you	
think	what	you	think	and	be	ready	to	explain	it.		Anybody	in	your	team	needs	to	be	ready	to	explain	
when	I	come	over.		Okay?		Finish	the	first	side	and	call	me	over	to	check	in,	and	then	you'll	get	to	go	on	
to	the	second.		I'm	going	to	need	somebody	in	that	team	to	get	a	fast	start	saying,	"Okay	guys	which	one	
do	we	want	to	start	trying	to	match?"		And	show	me	all	of	those	good	group	conversations	skills	that	
you	guys	used	on	Wednesday.		Okay?		So	you're	going	to	match	each	problem	with	a	first	step.	

STUDENT:		The	second	one.		Con	la	second.	

STUDENT:		¿Este?	

STUDENT:		Yeah.	

STUDENT:		¿Por	qué?	

STUDENT:		Porque	they	both	–	they	have	the	same	numbers.		Mira,	like	the	x2	-7x+10	and	next	one	tiene	
x2	-7x+10.		They're	both	the	same.		You	made	that,	the	one,	into	zero.	

STUDENT:		The	last	one?	

STUDENT:		Yeah.		When	you're	solving	for	x	–	you	have	to	–	you	have	to	combine	–	you	have	to,	like	–	

STUDENT:	The	second	one?	

STUDENT:	No,	this	one.	

STUDENT:		So	this...it	can	match	with	that	correct?	

BARBARA	SHREVE:		Yes.	

STUDENT:		Okay.	

BARBARA	SHREVE:		Go	for	it.	

STUDENT:		The	factor	goes	with	the	generic	rectangle.		You	guys	know	why,	right?		You	know	why	it	goes	
with	the	generic	rectangle?		x2	+10?		And	then	the	factor	completed	goes	with	the	one	at	the	bottom.		
It's	a	generic	rectangle	too.		Because	3x2,	-9,	-12.		Yeah.		And	I	think	that	the	“solve	for	x”	goes	with	the	
one	up	here.		But	I'm	not	quite	sure	though	because	it	could	go	with	the	one	above	that.	
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STUDENT:		Say	where	are	the	groups...	

STUDENT:		Yeah,	that	goes	with	it.	

STUDENT:		On	the	top	right?		That	don't	go	up	here?	

STUDENT:		It	could	go	right	here	also.		I	mean,	I	think	it	go	right	here	but	it	could	also	go	here.	

STUDENT:		And	you	divide.		You	add	and	divide.		Because	if	you	get	the	answer	here	x	is...	

STUDENT:		(Inaudible)	x-5,	x-3.	

STUDENT:		Yeah,	yeah,	so	you're	trying	to	find	the	x.	

STUDENT:		So	you	add	both	of	the	x's?	

STUDENT:		I	guess	this	over	here.		No,	wait.		It's	this	one.		Yeah,	it's	this	one	because	you	go	from	5	to	2,	
and	then	you	go	inside,	remember	how	she	said	it?.	

STUDENT:		Don't	that	one	go	to	this	one?		Right	here.		Don't	the	number	line	one	go	to	this	one?		No,	
wait	a	minute,	I	think	it	goes	to	this	one	because	it	says	the	roots	of	y=x-5,	x-2.		So	isn’t	it	this...	

STUDENT:			I	think	this	one	goes	with	that	one	because	she	told	us	to	use	the	number	line.	

STUDENT:		Yeah,	I	think	it	goes	with	that	one	too.		You	have	to	use	the	(inaudible)	over	there.	
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